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Instructions are executed --- In latest
generation computers:

(A) Parallel only

(B) Sequentially only

(C) Both of above A and B

(D) All of the above

IBM  launched its first personal
computer called IBM-PC in:-

(A) 1980

(B) 1981

(C) 1982

(D) 1983

In analog computer:

(A) Input is first converted to digital

form
(B) Inputis never converted to digital
form

(C) Output is displayed in digital form
(D) All of the above

Convert Binary number (.1011), into
octal number:

(A) (.54),

(B) (.55),

(C) (.56),

(D) (.57),

Which of the following in used to
produce a high quality graphics (Hard
copy) in color:

(A) Ink-Jet Printer
(B) Plotter

Mlaser Printer

(D) R.G.B. Monitor

441\A\2021

e el A P

R ST &

(A) et

(B) faqa=et

(C) 394 (A) 701 (B)

(D) FRrad |4

3. oW, Y s vy wiAE HRges o4

ara

(A) 1980

(B) 1981

(C) 1982

(D) 1983

eI FRYGER W:

(A) 3m™ & W Bes § ggar s &

(B) m™ & o W Bfdes & 78 g
St &

(C) Frm= & f&fee o cofor sar 2

(D) 3946 &
TR AR (.1011), B 3ifded ¥ 2Rr-
(A) (.54),
(B) (.55),
(C) (.56),
(D) (.57),
3! TUTEE arel I Mithaw (21 @) @
e & & o B eddar &) savasan
g &
(A) &3 =R
(B) wiex
(C) ®R fimex
(D) 3.3, A@fieR
P.T.0.
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6. VDU-Visual display unit gives:
(A) Software Program
(B) Hardware
(C) Soft copy of output
(D) None of these
7. What is the Binary number of the
decimal number (65)101
(A) (1[')00001)2
(B) (1001001)2
(C) (1101001)2
(D) (1000000),

@

Cut or copy text can be kept in the:
(A) Character Map

(B) Note pad

(C) Format Painter

(D) Clip Board

9. A Computer program that converts an

entire program into machine language
is called:
(A) Commander
(B) Compiler
(C) Simulator
(D) Interpreter
10. The following are the Internet services
provider in India:
(A) HCL
(B) MTNL
(C) BSNL

\_u() Al of the above

447\A\2021

[4]

6.

10.

(A) TIRIaR Srmg

(B) &AW
(C) Fms & I &
(D) 3ugw A Dy &

W%Wmmﬁmﬁmmmﬂ

(A) (1000001),
(B) (1001001),
(C) (1101001),

(D) (1000000),

oC A B A T AT B T 3

gz

(A) dRFR #y o

(B) Ac Uz 4

(C) ®RUT Yuex

(D) faem & 3

UF U B 7 war § wmpf vy 3
W qEC dTet HRIER GITH B BE] A d

(A) @HUE

(D) Ueex

U H 30ee Al vrareer &
(A) U3 & va

(B) "9 & o7 um

(C) & vd o o

(D) e s
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15.
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” lﬁr_mmﬂﬂ of I, AFQm=em-t

(A) Unemployment
(B) Danger to privacy

(C) Danger to security of database

BT All of these
12.

The decimal equivalent of binary
number 0.0111 is:

(A) 4.375

(B) 0.4375

(C) 0.5375

(D) -0.4375

Which of the following codes uses 7bits
to represent a character:

(A) ASCII

(B) EBCDIC

(C) BCD

(D) GRAY

A Computer derives its basic strength
from:

(A) Speed

(B) Accuracy

(C) Memory

(D) All of these

reservation

Computerised  railway

system is an example of ----,

AR) On-line application

(B) Off line
(C) Both (A) and (B)
(D) None of these

447\A\2021

11.

12.

13.

14,

15.

LT, % Prafrfea aifval &

(A) Ry

(B) TGRAT Bl W

(C) SETEH B & B Tl

(D) I IR

I TR 0.0111 Y GeHed & .. &

(A) 4.375
(B) 0.4375
(C) 0.5375

(D) -0.4375

FefRed & s Nz o Bad &
R 7bits & WA B TN B @ PR
£

(A) 3D ASCII

(B) 3.8r.30.8.3m. 9. EBCDIC

(C) a3 BCD

(D) T GRAY

Uh PR I I Wb (basic

strength) | U el f

(C) (A)d (B) ami
(D) FH I I &

P.T.O.
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*16. For what Tally software is used:
(A) DTP
(B) Communication
(C) Networking

Mccou nting

1/. Which is called information Highway:

(A) E-Mail
(B) Pager

(C) Cellular Phone

LB‘)/I-nternet

*18. What IS correct order of the valye of

base for decimal binary hexa decimal

and octal Numbers:
(A) 10, 16,2, 8
(B) 10, 2, 8, 16

45 10,2, 16, 8

(D) 10, 8, 16, 2

19. Which memory is electrically erasable

memory?
(A) ROM
(B) PROM
(C) rRAM

AD) EEPROM

20. What do YOu mean by 3 workspace:
(A) Group of columns
(B) Group of worksheets
(C) Group of rows

(D) Group of work books
44T\A\2021
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16.  Zeft (tally) AR gy Wiy

17.

18.

19,

20,

forar fevam s 2>
(A) SAG.
(B) ¥WOR

(C) eafdm

) ™ _.'-—"C.  ae

(WS R

‘;@mmﬁa‘#@?ﬁé?
(A) 33

(B) WK

(C) AR B
(D) §ce
Decimal, binary, hexa decimg ]
Octal &1 Wl 54 a7 2nmr>

(A) 10, 16,2, 8

(B) 10, 2, 8 16

(C) 10,2, 16, g

(D) 10, 8, 16, 2

B memory electrically erasablef
(A) ROM

(B) PROM

(C) rRAM

(D) EEPROM

TR A 319 31 2y &

(A) Group of Columng

(B) Group of worksheets
(C) Group of rows
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21. Which memory has highest capacity?

(A) Cache memory
(B) Main memory
(C) CD-ROM
(D) Hard Disk

22. What is not an object

language:
(A) C**
(B) JAVA
(C) C

D) VC**

classified as:

(A) Machine language
(B) Assembly language
(C) High-level language
BT All of the above

24. 1 KB is equal to:

(Ay1024 bytes
(B) 1024 bits

oo duljuoneIqp mmm,//:sdny

(C) 1000 bytes
(D) 1000 bits
25. Which of the following
application software!
(A) Anti virus Program
_{B) Operating System
(C) Word Processor

(D) None of the above

447\A\2021

is not an

oriented

23. All computers languages can be

(7]

21.

22.

23.

24.

25,

#h & memory £ g T capacity

arit

(A) Cache memory

(B) Main memory

(C) CD-ROM

(D) Hard Disk

st @ language object ori
language &l &:

(A) C**

(B) JAVA

(c) C

ented

(D) VC**
T dgeR language @' Classified @
A &

(A) Machine language
(B) Assembly language

(C) High-level language
(D) IRIH |

1 KB & a¥&R:

(A) 1024 bytes

(B) 1024 bits

(C) 1000 bytes

(D) 1000 bits
Brafafag & § @ @ application
Software &l &

(A) Anti virus Program
(B) Operating System
(C) Word Processor

(D) FRIH ¥ § B el

P.T.O.
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27.

28. What is the shortcut key to highlight 28,

6. Which is not the fu

29. Formula in Excel starts with-

https://www.dbrauonline.com

nction of 'Edit, Clear’

command?
(A) Delete Contents

(B) Delete Notes
(C) Delete Cells

(D) Delete Formats

Which chart can be created in Excel: 27.

(A) Area
(B) Line
(C) Pic
(D) All of the above

the entire column?
(A) Ctri+C

(B) Ctrl + Enter

(C) Ctrl + Page up
(D) Ctrl + Space Bar

(A) %
sy =
(C) +
) -

30. Which

language is used to create 30
macros in Excel? |
(A) Visual Basic
(B) C

(C) Visual C++

(D) JAava

44T\A\2021
[8)
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26.

29,

Clear’

Edit, command ,

function 21 2 ;&il
(A) Deiete Contents .

(B) Delete Notes

(C) Delete Cells

(D) Delete Formats

#7 @ Chart Excel & T ey
(A) Area

(B) Line

(C) Pic

(D) FUeH Het

f&2dt Column @I highlight @R & Bt
short cut key #:

(A)
(B)
(C)
(D) Ctrl + Space Bar

Excel # Formula &9y T & &
(A) %
(B) =
€ +
(D) -

Ctri+C
Ctrl + Enter

Ctrl + Page up
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31. From which menu you -can insert
Header and Footer?
(A) Insert Menu
(B) View Menu
(C) Format Menu
(D) Tools Menu
32. Portrait and Landscape are:
(A) Paper size
_B7 Page Orientation
(C) Page layout
(D) All of the above
33. Which of the following companies
developed Ms-office 20007?
(A Microsoft
(B) Corel
(C) Novell
(D) Lotus
34. To connect a computer with a device

in the same room, you might be likely
to use:
(A) A dedicated line
(B) A co-axial cable
(C) A ground station
(D) All of the above
35. IT in business:
(A) Is useless
(B) Is inefficient
{&¥~The need of hour

(D) None of the above

441\A\2021

31.

32.

33.

34.

[9]

5@ Menu 7 Hea
I &

(A) Insert Menu

(B) View Menu

(C) Format Menu

(D) Tools Menu

Portrait 31k Landscape &1 &
(A) Paper size

(B) Page Orientation

(C) Page layout

(D) IWB TN

der 3R Footer # Insert

MS-Office 2000 &1 AR e

Comapny 3 far &:
(A) Microsoft
(8) Corel

(C) Novell

(D) Lotus

3% device B T HEd & S 0B & IR A
frerd Computers @1 Connect & 3 W

gl &
(A) A dedicated hine
(B) A co-axial cable

(C) A ground station
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P.T.0.

oo surjuoneIgp mmm//:sdny



oo duljuoneIqp mmm,//:sdny

36.

https://www.dbrauonline.com

Key board is:

A&7 Data input device

37.

38.

39,

40.

(B) Data output device
(C) Both (A) and (B)
(D) None of (A) and (B)

Convergence is:

(A) Bringing together cinema and TV

(B) Bringing together all kinds of
voice video and data networks

(C) Telephony system

(D) Conversion

Information revolution has made

people:

(A) Tied to one another

(B) Dependent on one another

(C) Independent of one another

(D) Closer

First Generation of computers used:

(A) Transistor
(B) You Tube Service
_,(zrVacuum Tube
(D) Loom
Arithmetic and logic unit does not do:
(A) Input & output
(B) Input
(C) Output

(D) (A), (B) (C) all are correct

447\A\2021
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36

38.

39.

40,

. Pattuee &

(A) 3P 3 iy

(B) 3der aferfus o5

(C) (A) 7 (B)

(D) (A) 7 (B) 217 g

(A) R Ud 2 & ST

(B) ¥ YBR & ah wfiry vy
HAE @ Frer

(C) gRwTI aawey

(D) TR

N Hifd 3 o @ @ @y

(A) P G F ae g

g

(B) ™ g W fnik
(C) U R ¥ =y

(D) @iy
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BT B yum did 3 gz foar:
(A) o1f5rey

(B) geym aar

(C) Fafa afia

(D) @y

mﬁﬁawaﬁﬁ%@vﬁwﬁf?
A #:

(A) aiﬁﬁ“qﬂéa%frz
(B) sienfny
(©) afichs
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41. This is not operating system: 41. TE GawH Wﬂﬁ e ¢

(A) DOS (A) S

(B) Windows (8) ==

(C) UNIX (C) g

{27 None of (A) (B) (C) (D) (A), (B) (C) ¥ & &%

42. This is not type of software: 42, TR WFRAW B THR Tal ¢

(A) System software (A) waeen Framor g

(8) Application software (B) FPfs dfvedR

(C) (A) & (B) both are wrong
JB(A) & (B) both are correct

(C) (A) @ur (B) 21 e &
(D) (A) @1 (B) 241 && &

43. Microsoft Excel is a:

43. WBHNETE TaR #:
(A) Word Processor (A) & JREREHRUT W ITR
(B) Video Player (B) L3 @
(C) j\udlo Player (C) wfy erR
D7 Spreadsheet (D) Ve
44, -2-3is a:
4. Lotus 1-2-3is a: 44, @ed 1-2-3
(A) Video Pla :
yer (A) SR @
(B) Spreadsheet
(B) Vet
(C) Audio Player
(C) @ e
(D) PODF reader
(D) .3rew. frex
45. SQL is:
45. vH.Eg.uq. &

V(kj/ Structured Query Language
(A) omaferd geams sy

(B) Programming Language

(C) Structured Quich Language (B) T
(D) Sufficient Query Language (C) e | T
44NA2021 " (D) wafa gwams s

https://www.dbrauonline.com
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6. EDI advantage is: 4. §2.3%. = g &
(A) Paperiess cash (A) DI T T2 ofy
(B) Fast Interchange (B) 9F FEH-%aH
(C) Less problems (C) &= FHEE
(D) (£)(B) (C) all are true D) (A)(B)(C) 7 Tay @
47, E-Cash is: 17 EETR
AT Blectronic Cash (A) P
(B) Electrical Cash (8) g Tdt
(C) Both (A) and (B) (C) (A) @ (B) 2t
(D) None of the above (D) IRIH & A 313 T8
48. Internet is used for: 48. FTTAT T JAT FT &:
(A) Entertainment (A) T
(B) Sports (B) HFEz
(C) Education (C) :’w“
,(EV)/AII of the above (D) 7% T
49. .gov is used by: 49. _gov 9T 2T 2
,(‘A’flln government website (A) *HT aqarse g

B) In personal [ S 4 4
(B) Inp website (8) 5 qaarée g

(C) Both (A) and (B
) / (C) (A) Fu (B) @191 A
(D) In military

(D) &1y
50. E-Commerce: ;
(A) Is not in India
(A) ¥Ra # 38 2
(B) Is just a myth (B) w1 oas
s &
_LO)/Isa happening reality in India (C) Wra & ot
(D) None (D) o 5 R ?
44TA\2021 [12)
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51.

52.

53.

54.

55.

447T\A\2021
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The first mutual fund was started by:
(A) UTL

(8) LI.C.

(C) G.I.C.

(D) S.B.L

I.C.I.C.1. provides financial assistance
to:

(A) Small scale industries

(B) Medium scale industries

(C) Large scale industries

_,(«D)/;MI of the above

Which bank was first authorized to
issue the notes:

(A) State Bank of India
_LB’)/Reserve Bank of India

(C) hank of Bengal

(D) None of the above

For Central increase

Government
in credit of Reserve Bank of India is
known as:

(A) Primary deficit

(B) Monetary deficit

(C) Budgetary deficit

(D) Revenue deficit

Who have the monopoly to issue the
paper money?

(A) Commercial Banks

BJ Central Banks

(C) Finance Commission

(D) All of the above

51.

52.

53.

55.

[13]

(B) L.LC.
(C) G.I.C.
(D) S.B.IL
1.C.1.C.1. fada elie J9eres il &
(A) e Jamit 3
(B) Weg® ®R & Jm P
(C) < wR & Fam &
(D) 3IWes qH!
T W ¥ e Bt & wfaer fra
do @ faan mar?
(A) WRA We &b B
(B) wrdta Rard d& &l
(C) o 3ifh ame &
(D) IRh 4 § P &
2 WHR & o et Rsd & & Fraer
g H AF are:
(A) wafid ame
(B) wifged aren
(C) aSeIT aren
(D) TS "l
SIS Yel SR FRA BT @ISR B e
&
(A) TR® &6
(B) ¥ da
(C) foxia 3y
(D) IREm T
P.T.0.
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56, Whﬂwme Tupee note in India. 56 . F
B Finance Minister (A) Tom ™
(C) Governgr of R.B.I. (B) fam =it &
D fC\ | ¢ p= s SO .
(D) Secretary of the RBL C) Rd &5 ¥ TR &
57. Who controlg coinage? (D) R4 3% ¥ T *
(A) RB.I. 57. ﬁiﬁﬂﬁﬁmaﬁaﬂqfwﬁ
- r I"S?“}
(B) s (A) HRET Resrd ¢
(©) Central Government (B) et R 4
(D) State government (C) W’qw
58. i
Primary function of money are. (D) T57 1
. ' 58 * qrorh
(A) Medium of exchange - Ha @ grafas H 2
B) ey
L27" Both (a) ang (g Ecj T
(D) None of the above ) (A) 3 (B) a1t
59. Wh , (D) 3w :
O popularizeq the quantity of - o q #1831
monEY? [0 ! 3_1 qr.\"l | ﬁt‘r;?—:? H_D:T FCFH 5 114
- ' ot
(A) Keynes TR A0 Nemfiramn oy
(B) .S, My (A) &=
(C) Fisher (B) Ses fug
(D) David Hyme (C) fpor
60. Ho . D) g
W Much time Period haye medium (0) fa 0!
term loans: 60, meormEEy o -
() 2to 3 years () 2% 3 4
(B} 3tos ea
years (B) 33 : a6
(C) 5to 10 years
C) s
(D) 10 to 15 years | 10
(D) 109 15 a§

447\A\2021 (1
4]
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61. The term 'Bank’ was first used in which 61.

country?
T Italy
(B) .America
(C) England
(D) Japan
62. Monetary policy is formulated by:
_(A) RBL
(B) SEBI
(C) Stock Exchange
(D) Finance Ministry
63. "Money is anything which in commonly
used and generally accepted medium
of exchange or as standard of value
who said?
(A) Keynes
(B) Crowther
(C) Kent
(D) Seligman
64. Which of the following
currency form of money:
(A) Cheques
(B) Credit Cards
(C) Debit Cards
(DY All of the above
65. "Money is what money does". This 65,

definitign of money is given by:
Mfa Withers

(B) Keynes
(C) Seligman
(D) Knapp

447\A12021 [15]

62,

63.

is/are non- 64,

p———— A
T ere

(A) sTeh

(B) ImRa®

(C) grts
(D) S

W Ny @1 Fafor fsar s &2

(a) Rerd & g

(B) &I ERT

(C) -y faufor gr

(D) faw warera g1
mwasmﬂi?ﬁqﬁwmm;maﬁ
8 fosey @e?

(A)

(B) ®3RR

(C) &

(D) Aferrtq

Foret 1 <1 pt1-<0 g A i A 27
(A) D

(B) fee &1

(C) zfac &1

(D) 3ueres a4l

qg g # S g @ B A, g )l ag
i & &:

(A) gide faed =

(B) @I

(C) Jfermdd

(D) #u A

P.T.O.
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66.

67.

68.

69.

70.
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Money that a government has required
to be accepted in settlement of debts
is:
(A) Commodity money
(B) Barter money
(C) Legal tender
(D) Currency money
What is 'Stagflation'?

(A) Inflation with growth

(B) Inflation with depression

(C) Deflation with growth

(D) Inflation after deflation

Money as a basis of price mechanism
is most effective in :

(A) Mixed economy

(B) Planned economy

(C) Capitalist economy

(D) Socialist economy

Which equation is given by Fisher to

explain quantity theory of money:
(A) MV=PT

(B) M=pvyT
(C) v=PT
(D) PV=MT

Treasury bills raised by Government

are gxample of:
XShort term debt
(B) Long term debt

(C) Medium term debt

(D) None of the above

447\A12021 [16]
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£h

A

67.

68.

69.

70.

mamﬁwm%‘
BN gE B _
(A) a& T

(8) fafoma g

(C) EﬂTﬁﬁ%ﬂT

(D) T 7T

RIGCITH FIT &y 87

(A) Soifa gfg & Ty

(B) wifct &1 & |1y

(C) srawwifa gfz & |

(D) DI FaTHIT & a5

qgT &1 Jed Jomen 3 gerdt

(A) Taisra srefengwen 3

(B) Faifsa srferawern 4

(C) TEad sreferawer §

(D) wmifs® wofagwer o
ﬁﬁmmgmﬁmmﬁ?ma%mrﬂﬂ
%%ﬁﬁqﬁwﬂﬁmmma%rr&?
(A) My=pT

(B) M=pyT

(C) v=pT

(D)

oo surjuoneIgp mmm//:sdny



oo duljuoneIqp mmm,//:sdny

https://www.dbrauonline.com

71. SEBI was established in: - aﬂaﬁ‘rwﬁﬁ’ﬁ'?ﬁ?
(A) 1993 (A) 1993
(8) 1988 (B) 1988
AC) 1992 (C) 1992
(D) 1990 (D) 1990
72. Finance is related to: 72. fam o W &
(A) Money (A) @A
(B) Credit (B) ™I A
—4€) Monetary resources (C) wifed T 9
(D) None of the above (D) IR A § DS ARl '
73. In which market old shares are 73 o AR # QR Se Y EieT o e
purchased and sold and it is called as: FTe & 39 BEd &
(A) Primary market (A) WrIfid &1eTR
Secondary market (B) fdftum ok
(C) Capital market (C) T& AR
(D) Ha1 &SR

(D) Money market

4. To Fulfil the requirements of S.L.R of 74, @IfoTsg @ & 3 S.L.R. 3 UaTH B

commercial banks the helping market ey T § FEOD TR B FEd &
is known as: (A) §T1 TSR
A) Discount market

(B) Bill market
(C) Y a1 ¥1E F0TR

(D) None of the above (D) IRIE A H BB TR
75. In India paperless trading started by: 75. YRAaY # TRerg SR 9% g%

(C) Short notice credit market

(A) N.S.D.L. (A) N.S.D.L. & RIGATH
(8) C.D.S.L. (B) C.D.S.L. & R
4] Both (4) and (B) (©) (A) 3R (B) 2
(D) U.TL (D) U.T.I. & == J
44T\A\2021 [17] P.T.O.
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76. which bank in India became the first
bank to open its branch in China-
(A) H.D.F.C. Bank
(B) 1.D.B.I. Bank
(C) State Bank of India
(D) Punjab National Bank

of 14 Commercial

Banks hold on:
‘.Lﬂr}-]uly 19, 1969

(B) August 19, 1969
(C) July 15, 1969

(D) August 15, 1969

78. A Bank

should make g3 balance

between:

(A) Safety ang Profitability

(B) Proﬁtabiiity and liquidity

() Safety ang liquidity

(D) None of the above

79, Regional Rural Banks were

set up on
the recommendation of:

(A} Fazel Alj Committee
(B) Puri Committee

() Narsimhan Committee
(D) Helton Young Commission

Which among the foliowing IS known

as "Smal| man's Bank_*

80.

(A) Rural Banks
(B) Cooperative Banks

(C) Land and Development Banks
(D) s.B.L
447\A\2021

78,

79.

80.

(18]

(A) H.D.FC. &
(B) 1.D.B.L &

(A) 19 JeT1$ 1969

(B) 19 3n= 1969

(C) 15 g 1969

(D) 15 3nme9 1949
UF B et Ty 2.
(A) RET U ATy o

(B) ®%amsar pa ARETT |

(C) zen vd o

(D) 3u2es 3 HIE T

T oy d@ w5 NI gy H‘d

v {é ot o

oo surjuoneIgp mmm//:sdny

(A) B3 3 HUH
(B) 98 iy

(Q) T=faes FHA
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! 81, The ndustial finance corporation of
India (1.LF.C.1.) takes loan from:
WR.B.I.

(8) Central Government

(C) 1.D.B.L

(D) All of the above

8. mmﬂﬂﬁmﬂ“‘“mﬂ

(A) v Rd &n &

(B) &Ry TR A

(C) wrdra stafes i &m 4
(DY Juen @i A

82. EXIM Bank was established on: pe. vfonr A oBY geanaen o) el
(A) 1st July, 1982 (A) 1 3§ 1982
~{Br1st January, 1982 (B) 1 314t 1982
(C) 1st April, 1985 (C) 1 36% 1985

(D) None of the above (D) 3RE F A P A&

fober @ A der & A S Yfaen 7 e B

83. Cheques facilities in which account is 43,

not provided by the bank: St &
(A) Current Account (A) e @ran
< (B)-Fixed Deposit Account (B) widfer 1 v

(C) Saving Account (C) ddd Hieh

(D) None of the above (D) 3 ch A A @S 18

oo duljuoneIqp mmm,//:sdny

84. When was Reserve Bank Of Indja H/] ’j”{(’”a iT{\ﬂ‘& ﬁ"-l‘ ,i’r:T ‘!‘”II‘“ ‘hﬂ' l;rr}‘i ”—b '!J

Established:
(A) 1934

(81935
(B) 1938

(B) 1938
(€) 1940 (C) 1940
(D) 1947 (D) 1947

85. Redeemable bill Items are: 85. ey faer e
(A) aRwmafag; &
(B) cTami &
(C) (A) @ (B)
(D) IRIH & § P 7&

(A) Assets
/6 Liabilities
(C) Both (A) and (B)

(D} None of the above

447\A12021
[19] PT.O.
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-

g5, MB.FC. stands for:
. - .
(A) National Banking

Finance
Companies
(8) Non-Banking Finance Companies
'.{C{Non-Banking Finance Corporation
(D) National Banking Finance
Corporation
87. Which bank was Central Bank of our
country before R B.1?
(A) S.B.L
(B) Bank of India
*C) Imperial Bank

(D) General Bank of India

g

Who is entitled to change cash reserve
ratio of the banks in India.

(A) R.B.I.

(B) Ministry of Finance

(C) Board of Directors

(D) Planning Commission

89. R.B.IL Generally revised monetary

policy for every,

(A) 3 Months

(B) 6 Months

(C) 9 Months

(D) 12 Months

. Smart Money is a term used in:

(A) Internet Banking

(B) Credit Card

(C) Debit Card

(D) Cash with bank
447\A12021

[20)
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JO
=

88.

89,

90.

(A) #mai%nmrsﬁ;qmﬁa
(B) FH-dEN B warhs
(C) FF diHT B BRirey

(D) TITE AHT BIEF BhRurzg
AF FE T a0

(A) RT & 3w 3fozan

(B) ¥ 3T sfozan

(C) 3=iRaa ¥

(D) FRe 4 3% 3=y
uRda dof ¥ #9 T3 @y
TRad= @1 Faar &2

(A) FR.a.3s.

(B) faw damer

(C) wHuwes quge

(D) AT 3o

https://www.dbrauonline.com
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Cheque is an example of :
foken money

Optional money

Fiat money

Currency

- money in which all transactions
e place is called :
) Primary money
) Token money
.) Paper money
D) Commeodity money
.ommercial Banks influence money
;upply through:
(A) Creation of demand deposits
(B) Printing of one rupee notes
(C) Augmentation of sayings and
time deposit
(D) Provision of high denomination
notes
The term Bank was derived from the
Italian word:
(A) BANCK
(B) BANCO
(C) BANKE
(D) None of the above
S. 'Rebate' on bills discounted is:
(A) An item of Income
(B) A liability

(C) Income received in advance

(D) Income outstanding
4NA2021

o1.

92.

93.

94.

95.

[21)

(D) ax qal
Zaeie d6 @ Igfd @ B 6 g

gfad d 27

(A) Hf1 AR &1 iy

(B) U& &9 P ¢ & Hia=

(C) awa vd frandr sei & gfg

(D) 3wg gt & el &1 uTae=H

v d gefera v & e T Q a1 20
(A) BANCK
(B) BANCO

(C) BANKE

(D) 3IWh 4 &1 98
faeli w Rae 8.
(A) 3 &1 v e
(B) s afaeg
(C) 3ma & 31fimy wifty
(D) & 39

P.T.O.
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96. Section 13 of Banking Regulation Act

restricts the payment of expenses on

iIssue of shares to --- of the paid up

value of such shares:
(A) 10%
(B) 2.5%
(C) 5%
/(D) 119

Gold, will be shown under the heading
in the balance sheet of Bank:
(A) Investment
¢B) Fixed Assets
(C) Reserve and surplus
DY Current assets

98. Inlangible assets are:

(A) Preliminary expenses

By Patents, copy right, goodwill

(C) Losses which cannot be reduced
from share capital

(D) Al of the above

99, The €Xpenses incurred by the
enterprise the benefit of which will be
derived in years to come are called:
(A) Fixed assets
(B) Current assets
('Gj'/;ictitious assets
(D) None of the above

100. Which one of the following is not

function of Commercial Bank?

the

(A) Issue of traveller's cheque
(B) Creation of credit
& Issue of notes

(D) None of the above

447\A\2021

96. Wﬁmﬂfﬁﬁmaﬁmm&m
e s T za G & - %%ﬁ
g afed|
(A) 10 wfaeid
(B) 2.5 §fqerd
(C) 5 wiroma
(D) 11 wiaerd
97. Ec’réaés%-gﬁs?rdm----ﬁﬁmam
(A) fafram
(B) =gt grufy
(C) Hud va 3nftray
(D) ] Hwfxd
98. 3wd M ¢
(A) wRfs e
(B) VT BHIIRIEE vty
(C) v et f= 651 9 & werm 71
Bdhdl
(D) IR Tag

9. w1 R e vy ey TS1T ey o

1 IS HARM Fmery a7

(A) T gmfy

(B) ag wnfiy

(C) rarfas dmfy

(D) Im=res g 9 GAE T
100. Prefafag o B B g &

(A) 2 ¥ S8y ey

(B) AR &7 forgiey

(©) e vt w1 g

©) 30 # & g

[22)
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